. . 9. Given £||m||mand s|| ¢ , and mZl=71", find:
1. I||m.Find m£1 and m£2 2. al|b.Findy
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7. 1fm<2 = 23", find m<12. 8. If m<1 = 122° find m<10.

Please fill the blank in with always, sometimes, or never.

10. Vertical angles are congruent.

11. Corresponding angles are congruent.

Indicate if the following pairs of lines are ¢oinciding, parallel, perpendicular, or neither .
12, x-5y=0 y+1=4x+5)

13, y-7Tx=6 y+7x=8

14, bx-4y=24 Jy+2x=12
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2. /1=22
a. Ifm.~6=72° whatis the sum of m~7 and m.2 37 3.mZl=ms2 3.
Explain how you found your answer using angle
4. 4. Definition of a linear pair

relationships or theorems/postulates.
5. If two angles form a linear pair, their angle

i i i 5.
b. Which Uf" the five angle relationships formed f]i‘lDI‘f‘l | Measures sum to 180°.
parallel lines and transversals describes the relationship
between ~1 and ~87? 6.mZ1+m<3=180° b.
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